SEER 2 4

H 5 T T AT B Ak s == 2%
4 By = =F W E T &
(2 1 =D

2K R VR | T T






mEFE4LT
Fk2 4AFETHTHHECEEFEFINRHAMETRE (B19)

FR2AEEHATHOTECTERFUAHBETE E 15 B,
RICEDBEZBIZED,

GRABRILTHEOMIE)
14k BEOBARHETEORENSBARHEEINETN 14,023 TH2
WAL, BARBTHOBEERARMEINTN 2435 FHET S,
2 MABNTHEOBEOREOKARUNLEZKESD Z & O&ENL CITMHIE
BOBASHFEOSER. $1FE BARUTEME) 2X3.

(M5 % DHHIE)
ok BEOHMAEOLTIR. (E2F WAEBE k3,

Fre2 bF2H2 2 AN

tHMHE B %W B 5



B1R RARHTEMIE

7 AN
£ HERTOMHE # IE & 7
A TH FH
ERARR CFHH 187,982 23,800 184,182
1 AR 187,976 /3,800 184,176
- E ST e 32,849 -A9,434 23,415
1 [EEHEEE 32,849 A\9,434 23,415
4 BAZ 38,666 A174 38,492
1 —fEEEHEAS 38,666 Al174 38,492
B 1 1,775 1,776
1 e 1 1,775 1,776
A 76 610 686
1 R, kOB 50 610 660
S

ife 28,300 A3,000 25,300
1 28,300 23,000 25,300
% =) 3 288,418 A14,023 274,395




= 15 FHIERT O W OIE B
FH FH ¥
1 TEEEHEE 196,158 /\13,952 182,206
1 HEEEEXEE 196,158 13,952 182,206
2 MEE 91,760 ATl 91,639
1 NMEH 91,760 AT1 91,689
-5 & 3 288,418 /14,023 274,395




BoF HOHEME
1 % E

B E o H W

i

1t

il

IR B #

EEOHE

Rl

8 oKk

{EEEmER

TH
28, 300

HimEHEX

WEESRAT

%
0. 0B
(7=7Z 1.
FIREEL
HXTHED
ANSHES
2o T,
FlEDORE
Lefrol
#izBINT
i, H#ZR
BEL#OF
)

B A DRE &4
w3,

L. WO
BHwX0iBEREN
1 OME B IR %
BEL., #L<iE
B 58 3R
iEH A DT M
TE5,




# E %

B #

BEOFE | A % | BROFE

TH
25, 300

# oE ®wi & R U







SRR 2 4

H H Ay AT B e e 2 s B = 5t
e A LSS HH il IE T BT =R E B O HH ==
| (2 1 =)

JA BB AT | T T






AR IE T EEIRG S
1 & #5

G A)

£ FHIERIO%E W OE 8B Hi
k FH A T
1 fERER CEER 187,982 /N3,800 184,182
2 EEEZHE 32,849 A9, 434 23,415
4 BAE 38,666 A174 38,492
5 MRS ' 1 1,775 1,776
6 FEUA 76 610 686
7 i ' 28,300 A\3,000 25,300
® A = At 288,418 14,023 274,395

TE SRR



(% HD

EAd _ THIERTO%E E # 5
FH Fr FH
1 MEFTHEEHE 196,158 /\13,952 182,206
2 NEE 91,760 ATl 91,689
=4 H & =t 288,418 14,023 274,395

_10_



@B O W W AW

7 7z o i - ,

B x m e | # £ & | = o fi RoH =
FH FH FmM TFH

9,434 A3,000 /4,303 2,785

0 0 503 A574

8,434 3,000 A3,800 2,211

TR L S ERRIA

_11_




2 ® A
13k FERRR TS

1IR (FERN
= HHIERTOH i E # B
Fm M FH
1 FEERE 176,110 /A\3,800 172,310
i 187,976 “A\3,800 184,176
27 EHEXHE
138 [HEABE
| HEHEERS 32,849 9,434 23,415
&t 32,849 3,434 23,415
AR BAS -
11 —R2EHEAE
1 —EEHEAE 38,666 A174 38,492
gt 38,666 A174 38,492
ST
1IH e
1 $EEe 1 1,775 1,776
&t 1 1,775 1,776
6 FHULA ‘
11 ZEiHe. hEek TR
1 EfFE 50 610 660
g 50 610 660

_12_



_.13_.

Eﬁ =

X & s & At 7
F - A
1 {EEERN A\3,800 | THEEEMEHE /3,400
FrEnHESFEERR 400
1 EHEERTS A9, 434 | {EEEABHREMNE A9,434
1 —fREEE A A174 | —fEEE AL A174

£
1 @4 1,775 | & 1,775
1 HEHE 610 | LEH S 610
e EEERRI




ST THIE

18 &
B ﬁIEﬁﬁrDzE OE | &t
FH Fiy FH
1 HEE 28,300 /3,000 25,300
H 28,300 /\3,000 25,300

_‘14_



Hi

X % ~ o i
R : H
| R 3,000 | st 23,000
#

- 15_

B EHER AR




3 =
15 T ETEER

11 EFEFHEHE ,
i #H o o FE A R
=] FERiOFE | & E & ) ¥ E JiL] i O
ERHE 5 |7 O {ih "
¥ F FM FH FM FM FH
1 5 133,306 AT, 409 125,897 4,088 6,108 2,785
HEZHE EREET
FHE
2 e 62,852 A\6,543 56,309 5,346 3,000 1,803
) EEZHE | HE ERRET
FHeR
il 196,158 13,952 182,206 9,434 /\3,000 4,303 2,785
28 LMEH
19 MEE
1 T8 78,230 0 78,230 ' 503 /\503
FREET
FE
2 fF 13,530 AT1 13,459 AT1
2 ~ 91,760 AT1 91,689 0 -0 5037 574

_16_.



Hi

_17._.

B g
K & & # it &
FH FH
2 K A1,500 (001 BiERSE 4,000
; 003 MEEEEEHHE \6,491
3IWEFUE 1,800 | 005 HEEEEXEESEIS 3,082
4 HFEE AT00
8 HREE /185
11 FEHE 60
12 1R i5%E Al,016
15 THZEAE 5,230
25 ¥are 3,082
15 THRFEEE A\5,355 001 TiEFEEENEE 6,543
|22 fhE. mEN A1,188 |
UREES
SRR IE
23 EEE. FlT AT71|001 EBERITERS AT1
R UEE ¥
TR IRt




fa 5. 7
1 — B B
1 Bm
| % 5 #
X 4 WA XK # Pl WA F N 5
(A) (FH). (F1) (FH)
W% 4 14, 687 8, 384 23, 071
FHIER 4 16, 187 10, 184 26, 371
S 0 A 1,500 A 1, 800 A 3,300
X -4 5 T e FEY EREFEN
(Fm) (=FF) (FH)
WIE® 822 404
WIERT 822 404
BEFY | L 8% 0 0
ODHNR| B & # 5k F N o F N THEEEY
(F ) Fm ' (FF)
WIS 3, 051 1, 304
TBIER 4, 051 2, 104
S A 1, 000 A 800

_18_




_19_.

H il =
% ¥ R & i %
(FR) (FF)
4, 835 27,906
5, 535 31, 906
A 700 A 4,000
E T RSN BB 2 BREHTS | SRREARTY
(FFD) (FFD) (FF) (FH)
9] 2, 200
91 2, 200
0 0
K R I EMET
(FHD) CFF) (FFD)
512
512
0
I



(9) HEh R O 2 0 HE IR D BT

X 4 | M W & W W OB M M N R
(Fr) M)

B A 1500 | BETERIES MRS 0
RIS R 0

EOMOERE A 1,500

BETY A 1800 | BIESECEES BRA 0
EDBOER A 1,800

._.20...




i

Mm

FACH IR 2 S

BRETFLOBED

_21_.

EEEEESSE




